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Part One: General Marking Principles for Biology Intermediate 1

This information is provided to help you understand the general principles you must apply when
marking candidate responses to questions in this Paper. These principles must be read in
conjunction with the specific Marking Instructions for each question.

(&) Marks for each candidate response must always be assigned in line with these
general marking principles and the specific Marking Instructions for the relevant
guestion. If a specific candidate response does not seem to be covered by either the
principles or detailed Marking Instructions, and you are uncertain how to assess it,
you must seek guidance from your Team Leader/Principal Assessor. You can do this
by posting a question on the Marking Team forum or by e-mailing/phoning the
e-marker Helpline.

(b)  Marking should always be positive ie, marks should be awarded for what is correct
and not deducted for errors or omissions.

GENERAL MARKING ADVICE: Biology Intermediate 1

The marking schemes are written to assist in determining the “minimal acceptable answer” rather
than listing every possible correct and incorrect answer. The following notes are offered to support
Markers in making judgements on candidates’ evidence, and apply to marking both end of unit
assessments and course assessments.

1. There are no half marks. Where three answers are needed for two marks, normally
one or two correct answers gain one mark. The Marking Instructions will show how
marks should be allocated in questions worth more than one mark.

2. In the mark scheme, if a word is underlined then it is essential; if a word is
(bracketed) then it is not essential.

3. In the mark scheme, words separated by/are alternatives.

4, There are occasions where the second answer negates the first and no marks are
given. There is no hard and fast rule here, and professional judgement must be
applied. The marking instructions cover these eventualities, wherever possible.

5. ‘Bad Biology’ should not result in a mark being awarded. Often, an otherwise correct
answer can be negated by a response which is biologically wrong.

6. Where questions on data are in two parts, if the second part of the question is correct
in relation to an incorrect answer given in the first part, then the mark can often be
given. The general rule is that candidates should not be penalised repeatedly.

7. If a numerical answer is required and units are not given in the stem of the question or

in the answer space, candidates must supply the units to gain the mark. If units are
required on more than one occasion, candidates should not be penalised repeatedly.
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10.

Clear indication of understanding is what is required, so:

o if a description or explanation is asked for, a one word answer is not acceptable

o if the questions ask for letters and the candidate gives words and they are correct,
then give the mark

e if the question asks for a word to be underlined and the candidate circles the
word, then give the mark

o if the result of a calculation is in the space provided and not entered into a table
and is clearly the answer, then give the mark

e chemical formulae are acceptable eg CO2, H20

e words not required in the syllabus can still be given credit if used appropriately eg
Rhesus negative.

Incorrect spelling can be given. Sound out the word(s),

if the correct item is recognisable then give the mark

o if the word can easily be confused with another biological term then do not give
the mark eg antibodies instead of antibiotics

o f the word is a mixture of other biological words then do not give the mark, eg
dormination.

Presentation of Data:

o if a candidate provides two graphs or bar charts (eg one in the question and
another at the end of the booklet), mark both and give the higher score

o if the question asks for a line graph and a histogram or bar chart is given, then do
not give the mark(s) for the plots. Credit can be given for labelling the axes
correctly, or inserting an appropriate scale

e where a line graph is plotted, the individual points should be joined by a straight
line, directly connecting adjacent points. A line of best fit is not acceptable, unless
specifically asked for

¢ f the data on the horizontal and vertical axes are transposed, then do not give the
mark for labelling axes. A mark may be awarded for plots if the plots are accurate
and are plotted against an appropriate scale

o if the graph used less than 50% of the axes, then do not give the mark

e if O is plotted when no data is given, then do not give the mark (ie candidates
should only plot the data given). The same applies if the plots in a line graph
continue past the highest value provided, unless candidates have been asked to
predict a point beyond the data provided

¢ no distinction is made between bar charts and histograms for marking purposes.
(For information: bar charts should be used to show discontinuous features, have
descriptions on the x axis and have separate columns; histograms should be used
to show continuous features; have ranges of numbers on the x axis and have
contiguous columns)

e where data is read off a graph it is often good practice to allow for acceptable
minor errors. Any tolerance in an answer is given in the Marking Instructions

e when plotting points on a line graph, no ‘daylight’ should appear between the
plotted point and the place on the grid corresponding to where the plot should be

e when joining points on a line graph, a single line should be drawn between
adjacent plots — do not accept a thick, shaded line or double line
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11.

12.

13.

14.

15.

e when plotting a bar chart or histogram, all bars should have a clearly drawn
horizontal line across the top AND no ‘daylight’ should be visible between the
drawn line and the place on the grid corresponding to where the line should be
drawn. Furthermore, plotting only horizontal bars without supporting ‘sides’ to the
bar is insufficient

¢ always check the additional graph paper or pie chart provided towards the end of
the question paper

e when drawing a pie chart, the same principles apply — no ‘daylight’, no double
lines etc

¢ although candidates are instructed to use ink throughout (to increase legibility of
scanned images), some may have used pencil. Use the zoom facility to ensure
marks are read appropriately. A marker should refer paper directly to the Team
Leader by checking the ‘Referral’ box on the marking screen if they think the
image is difficult to read accurately or if they cannot see a graph but suspect it
may have been drawn faintly.

Marking from Image: Recording Marks

The question (or part of a question) which is being marked is highlighted. Ensure the
mark awarded is entered into the correct box adjacent to the space for the answer.
Where the candidate has made no attempt to answer the question, a dash (-) should
be entered in the box. Otherwise insert the mark awarded or O if the answer is not
correct and no mark is awarded.

Annotating scripts:

e amark, zero or a dash (-) is required in each box
e you use the draw tools v/, x or underline to indicate on the scripts a correct
answer or part of answer or an incorrect answer or part of an answer.

Use of language

e Itis not possible to list every possible way in which candidates may provide a
correct answer eg increases, gets higher, gets bigger etc all mean the same and,
if correct, the mark should be awarded.

¢ Candidates often use colloquial or casual language and, where there is no
ambiguity and a biological term is not required, the mark should be awarded eg
where ‘lower leaves removed’ is an acceptable answer and the candidate’s
answer is ‘chop off the lower leaves’, the mark should be awarded.

Interpreting an answer

e Candidates frequently provide part of an answer which implies the answer
provided in the Marking Instructions. A mark should not be awarded if the marker
has to ‘do the work’ or has to make an assumption about what the candidate
might have intended with their response.

¢ Where a conclusion is required, do not accept a re-statement of the results —
some form of interpretation of the results to form a conclusion is always required.

Biologically correct answers
Where a candidate provides an answer which is correct biologically and is an

appropriate answer to the question, the mark should be awarded, even if the exact
answer is not provided in the Marking Instructions.
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16.

One-off answers not covered by the Marking Instructions

e If aresponse is not covered by the Marking Instructions, consider whether this
answer is equivalent to the acceptable answer and if so, award the mark and
make a record of your decision as another candidate may have answered in the
same way and it is important that you are consistent in your marking.

e |f you cannot make a decision, check if the Markers’ Forum has a submission
which addresses this issue.

¢ Always consider the Markers’ Forum as a source of support and a repository for
decisions which you have made.

e You are encouraged to make a decision and to be consistent in applying your
decision.

e If a decision cannot be made, however, refer the paper directly to the Team
Leader by checking the ‘Referral’ box on the marking screen.

Page 5



2015 Biology Intermediate 1

Part Two: Marking Instructions for each Question

Section A
Question | Expected Answer(s) Max Question | Expected Answer(s) Max
Mark Mark
1 C 1 14 1
2 1 15 1
3 1 16 C 1
4 C 1 17 1
5 D 1 18 1
6 C 1 19 1
7 1 20 1
8 D 1 21 1
9 1 22 1
10 1 23 1
11 1 24 1
12 1 25 1
13 1
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Section B

Question Expected Answer(s) Max Additional Guidance
Mark
1 | (a) | (i) | Plants and animals 1 Additional information, even if
correct, negates an otherwise
Both required for 1 correct answer.
(ii) | Between 1928 and 1940 1 Additional information, even if
correct, negates an otherwise
Both dates required for 1 correct answer.
(iii) | 10 (%) 1
(b) Resistance 1
(c) Antifungal 1
2 @ | @) 1
Temperature Enzyme activity
(C) (%)
20 15
30 40
40 100
50 30
60 5
70 3
2 correct for 1
(i) | 40°C 1
(b) Bacteria 1
(9] Reduces chance of/prevents 1
allergic reaction/(skin) rash
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Question Expected Answer(s) Max Additional Guidance
Mark
3 | (@ | (i) |(tgets)firmer 1 Need comparative term — ‘firm’
alone is insufficient.
(i) | 28(°C) 1
5.5
Both correct = 1
(b) Rennet 1
()] (i) |3:0to4:5 1
Both correct = 1

(i) | 7:1 1
4 | (a) Yeast 1

(b) 2 Additional v" in a column negates

an otherwise correct response.
Type of beer
Features of beers Cask Brewery
conditioned conditioned
Yeast is not removed v
Alcohol is produced v v
Extra carbon dioxide is added v

1 mark per correct column
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Question Expected Answer(s) Max Additional Guidance
Mark
5 | (@) | (i) | The greater the height, the higher 1 A statement of a reading from the
the (Scottish average) peak flow or graph is insufficient — eg the
lower the height, the lower the average peak flow of a person of
(Scottish average) peak flow. 150cm in height is 400 I/minute.
‘Peak flow affects the height’ is not
acceptable.
(ii) | Above Scottish average 1
Scottish average
Below Scottish average
(b) Asthma 1 Any other medically correct
condition
(@) 1 No bent lines, no ‘daylight’.

B Non-Smokers

0O Smokers

Correct size of segments and correct shading = 1

(b) Any one of drinking alcohol, drug 1 Inclusion of an additional incorrect
misuse etc. answer negates an otherwise
correct answer.

‘Drinking’ alone is insufficient.
‘Alcohol’ alone is acceptable.
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Question Expected Answer(s) Max Additional Guidance
Mark
7 | (@) | (i) |44(Ka) 1
(ii) | 4/four (times greater) 1
(b) 2
Statement True False Correction
During exercise, carbon dioxide
uptake in the muscles is increased. v oxygen
Muscle fatigue occurs when
insufficient oxygen is available to v
the muscles.
One mark per correct row.
8 | (@) ‘ 2 ‘
Physiological Instrument
measurement
Body fat skin fold callipers/body fat sensor
Temperature clinical thermometer
Blood pressure digital sphygmomanometer
3 v'=2 marks
1,2v =1 mark
0 v =0 marks
(b) | () ‘ 1 ‘
: carbon
nutrients dioxide
waste oxygen
(i) ‘ 1 ‘
carbon .
dioxide nutrients
oxygen waste
One mark per correct pair of responses.
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Question Expected Answer(s) Max Additional Guidance
Mark
9 | (@) | () |2 (minutes) 1 Units not required.
2 — 4 minutes is unacceptable.
(ii) | 1.5 (litres) 1 Units not required.
(b) 69 (beats per minute) 1 Units not required.
10 | (@) | () 2
15
13
10
Number - 10 - - - B -
of new 9
flowers i
5 6
4
0
N A S
4 & o v S
{ X .
= 449 «Z@
S
o
Correct label and scale on vertical axis = 1 mark
Four remaining bars correctly plotted = 1 mark
(if) | Any valid explanation based on the 1 Reference to reliability is not
information provided. For example, acceptable.
we don’t know if new flowers were
produced on plants that had not
been deadheaded OR only five
types of plants were used so we
don’t know if this is true for other
types of plants.
(b) Potting on 1
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Question Expected Answer(s) Max Additional Guidance
Mark

11| (@) | () |1) Letters: BandD 1 2

2) Letter: A 1
(i) | Tuber 1
(b) Mineral: Nitrogen or potassium 1 Correct importance for growth
must match mineral

Importance for plant growth: Leaf
or flower/fruit
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Question Expected Answer(s) Max Additional Guidance
Mark
12 | (@) | (i) 3 Alternative scale on vertical axis
must have plots covering at least
half grid.
Label must include units
Plots all accurate and joined
Bar graph — lose plots mark only
50 60)’
50 /
40 : '
i
Mass of 20 (8C f
Seedlings (g) 30 I ,r’g I
/
20
2t 21/
10 : : -
| o) 1 \ P
T
0 1
Start 1 2 3 4 5 6
Age of seedling (weeks)
Label on horizontal axis (including units) = 1 mark
Scale on vertical axis = 1 mark
Accurate plots and join points = 1 mark
(ii) | 3/three (weeks) 1 Units provided.
(iii) | 3/three (@) 1 Units provided.
(iv) | Any reliability explanation 1
eg Not all of the plants may have
grown or equivalent
(b) | (i) | Protection/protects (the seed) 1
(i) | (Embryo) root 1 ‘Embryo’ alone is acceptable.
‘Root’ alone is acceptable.
‘Embryo shoot’ is unacceptable.
(c) Suitable temperature/warmth/ 1
oxygen/air

[END OF MARKING INSTRUCTIONS]
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